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SOUTH SYDNEY HIGH SCHOOL

Year 11 Half-yearly Exam
May 2000

MATHEMATICS

Instructions : Time Allowed: 2 Periods

1. All questions may be attempted.

2. All necessary working should be shown.

3. Marks may be deducted for poorly arranged or missing working.
4. Approved calculators may be used.

5. Questions are of equal value.
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Question 1 (10marks) (Start a NEW page) Marks

(2)

(b)

(©)

(d)

Calculate :

(3.24)*

(1) 573 584 correct to two decimal places 1

. 4.6-59 .
(i) 16x23 correct to three significant figures. 1
Find the value of & if (7 — 3x)* = 49 + kx + 9x2 1

4-3 )
3./3 +5

Rationalise the denominator

For |x—2| <1, solve for x and graph the solution on a number line. 3
Factorise fully 3m? —12 2

Question 2 (10marks) (Start a NEW page)

(2)

(b)

Find g and b such that 2

2
=a+Jb
2-J3

Find the value of x and y giving reasons for your answer. 4

Not to scale

Continue ....
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Question 2 (Continued)

(¢)  Explain why x? = 64 has two solutions but x? = —64 has no solutions.

(d)  Giventhat S, = g[za +(@—-1)d], find S,

whenn=103,a=5andd=1.2.

Question 3 (8 marks) (Start a NEW page)

(a) Express 0.128 as a simple fraction.

(b) Solve 4(x-5) =3 -2(x—1).

(©)

45°
Not to scale

X <100°

C > D

ABICD, ZBAX = 45° and #BXD = 100°.
Find, giving reasons, the size of L XCD.

Question 4 (10marks) (Start a NEW page)

o x2 -9 2x+14
(a) Simplify : dx—12 >(3(:2-4-63(7—7

(b) Solve these equations simultaneously :

3x-2y=5 and 2x+y=15

Marks

Continue ....
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Question 4  (Continued)

(c)  Simplify 2‘—:5—-5- - -’%‘2

(d)  Find the value of x in the diagram below.

2x

D Not to scale
4x

X 120°

Question 5 (10 marks) (Start a NEW page)

(&)  Solve the equation 3x2 +7x—1=0

(b) Solve |3n—5|=4n-1

(¢)  Factorise fully 3#*-3

(d) Solve the equations for x and y

x+y-3=0 and y=2x?

Marks

Continue ....
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Question 6 (10marks) (Start a NEW page) Marks
(@) D
Not to scale
C
- 41
A H Lp
AB =DE, BC =AE, ZABC = ZDEA =90°.
Provethat (i) AABC =ADEA 3
(i) AD is perpendicular to AB 2
(b) The sum of a number and it's square is 12. Write down a equation 3
and solve it to find the numbers.
2

() Solve 19<13-3x

End of paper




2600

1 Q) 3.43

._4Q:i
dy Jz-2)<
-l L x-2<
) L 4L

= |
101 2 3y

2’] Q) 2 R XT+dz
2- J* (B 2%73
‘ = 4(,+ﬁf
T
= +2E '
= mr
= L+diz

;)\D DL ©

201 S oLTig)S Ye,// //HAF/%?%Q”/ /ﬁr//ﬁﬂﬁﬁcﬁ

@) O /L’Z?)

b> <7 31} 49+}<z+6/3:z:
4142+ T S+ kz + o

2 M) @_5_)

BT3+5) <37B -$)

= 2J3 -20- %STB
27 25 "
= 17J3 ——jS

2
—

- gmi’—/Z: 3@1»4)

E
b N,
. A (0\5‘6 390
A ~ B C
- é/ éﬂm; ’ﬁ' (jﬁx
X 29(4%/\40
S Lﬂw—/)gﬂ
| 5,\ = '03 x5+<03~)x/zj
| ;g:% % /3f2 L7£ 2
=t %é




3,]&)/4;% z = 0. 128
= 01282828

S, oy =12.89%2%2F
- = . 12‘82%2-%

Gz = 12.7
Y o= /Q;7
79

¥ =127

770

o) /@%Z Nyt

/% = #85
/0%

/%Z = /435 loo
0%

- 7%’1375/

Od rale = 41375

by 4(2-5)=3-2(x-1)

4z —2(7:3~22:+2
 Jzlo= 552
e

I |

-y
AL

— /:.Z




G0 b2 dy -0 -6 . o)

e T =35 6
L =5" S Z2-10 -3y
sub in (1) /O+i:/5\ & -
"”é =5 = -—-?Z..-‘/é
1 |
) b “ Oe Slobion
= £ DEA = £0° (Shraight £.)
. 120°
f G R | Z+£0 =4 (&%&r:‘w é)

6O = 3
20= %




o : 3 M@m n==lr  whesi =4
- 7% Aen Y)=%6
17 Jel &1 alee. B trd

g?? one §c9/c/7L@'vf7

——— )
(:c = 0,135 er zz‘“Q./féS’) h=¢
':7_

o) 3tz - 3P 1)
=3 DD
23D ()

22X — B = g/né(/)/ |
X ~5=0, IEREDE

bz O
< 2 N A




eve
éyj 2) D D AARBC = aApghH

AB = DE (Guen
_ 96 = LeBh (Rt %)
n —t—"3 fE =cR [@M)
- ARBC = ADER (ShS)

") ffeve AD | 03

L p - |
Let Zﬁcié:m;’[pﬁz;’ Gm% i — / "
LCHB chﬁuzﬂo (4g .M Z[i\&)ﬂ ma’c"‘\igb m:A?
o0 /DAR LDRE + /CAR

L T W

) - 9

x AD 1 AR

i 1

JD) Lot = = ‘ﬁ\/ﬁ/ Nenboe s ) /9 £33~

3
- 27=12 h
X+x =12 =5 é < 3%
(x+4>(1;3>20 22

1:—4 o4 S




